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Note : This question paper consists of Three Sections - A, B and C.

SECTION - A

I.  Very Short Answer Type Questions. 10x2=20

(i) Answer all the questions.
(ii) Each question carries two marks.

4 + 31

1. Write the complex number 2 +30@ - 30) in the form a+1b.

2. Write z = — J'Tr' + i\r'i in the polar form.

3. 1f 1. w. w2 are the cube roots of unity, then find the value of

(1-w+wd)>+(1 +o-w?)’.

%
. . P—qd +
4. Form quadratic equation whose roots are y b+ 9 (p # =q).
> +q P—q
5. Find the algebraic equation whose roots are 2 times the roots of
244 3x7 - 2x*+4x+3=0.
6. Find the number of (1) 6 (ii) 7 letter palindromes that can be formed using
the letters of the word EQUATION. )
E’?) i1 " 040 and "C 210, find n and r.

&, Faond the pumber of tenms with non-zero coefficients in (Ax - 7)™ 4 7))
g, Jond the mean deviation about the moedian Tor the tollowine lata
L, 0% 10,13 2 g date
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v vanable satshies P(X - 1) - (X -2 Find Px | ks
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SECTION - B
I -
L. Short Answer Type Questions. Sx4=20

Ivl

Answer any five questions,
) Each question carries four marks.

11, If & 4§y = ——-—]——_-_— then, show that 4:2 -1 =0,
- I~ cosh + [sin#

=]
r
A
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12. Determine the ranpe of the EXPression —5 — ————

13. If the letter of the word PRISON are permuled m all possible wavs and the

words thus forned are arranpged in cdictionary erder, find the rank of the
word PRISON

e, 1.3.5. .. (4n — 1)
14. Prove that =5 = —————" —— L
ey, fL.3.5. .. 2n - 1))
el
xT

15. Resolve

'[1—;{———1—' into partial fractions,
X - iy — 4

16. If two numbers are solecied randomly from
iind the probability that the sum of the
) an odd number,

20 consecunive natural numbers,
WO numbers 1s 1) an even number

17. Let A and B he ndependent cvents with FlAl=0.2, PIB)=0.5. Find

1) PlA|B) (i) P3| A il PIATTB) and (v PIA | B
SECTION - C
[II.  Long Answer Type Questions 5%7-=35
1} Answer any five questions
i} Each gquestion carries Seren mirles.
I - K
/ I | I (B -‘ﬂHL[ e f.l.._ljh: i B
1% Show that one value of ] —— 8 18— | TR
(IS T I . % &
7 rens o '%“_g

1 . v g v I*=+_"lr1—:l--'. . 3 ey

19. Solve the equation .« + 2 PO =0 plyey that 1415 o of IR

5120332 [20f3)
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20" If the 274, 3 40 terms in the expansion of (a+ x)" are respective 240, 720,
1080, find a, x, n.

e
et
21 A - 13, 135 1357

oo at 0x2 4+ 24x=11
3.6 3.6.9 36912 - , then prove that 9x°

22. Find the mean deviation about mean for the following continuous distribution

Height T ! . - B r,__ e
. 95-105|105- 115|115 - 125| 125 - 135| 135 - 145 149 - 155
EusE (in cms) | .
l.%{ '] | - 1
== No. of Boys] 9 13 | 26 30 2 | 10 _\

23/'ﬁ1rce boxes numbered, I, II, 1lI contain the balls as follow :

White | Black | Red
1 1 2 3
1 2 1 1
T 4 5 3

One box is randomly selected and a ball is drawn from 1it.

If the ball is red,

then find the probability that it_'ig‘_f-i_'rom box II.
24, ¢ range of a random variable X is {0, 1, 2}. Given that P(X=0)=3c3,

P(X=1)=4c—10c?, P(X=2)=5c -1 (i) Find the value of c (ii) P(X < 1).
Pl <X =2 and PO<X=3) —
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